VARIANTA 1

VARIANTA 3

VARIANTA 4

Wi~ Wik =

=
o

|~ lWiN]=

Wl |~ |w N

=
=

[
d

=
[

=
o

=
=

=
=

=
W

=
[

[y
Foy

[
(93]

=
[#8)

=
[0

=
w

[y
=y

=Y
B

=
(=2}

=
L

=
wl

[
~J

=
oo

[
=2l

=
=2}

=
~

=
~J

=
=2}

=
w0

ale oo |lo oo |olo|gec e |l |e |jwin (o|w |&

(g
o

a

=
0

M lw|e|w |o|n |o|w |l oGl o |ojo || o

=
[o2]

=
0

ol oo |o|lw|lw e |Tjolo |aje || oo

[
=

10x1p=10p

N
j=]

C

[
(=]

b

22

7x1p+1x3p=10p

23

6x15p+1x1p=10p

N
=

5x2p=10p

21

7x1p+1x3p=10p

22

7x1p+1x3p=10p

22

5x2p=10p

24

6x1,5p+1x1p=10p

23

6x15p+1x1ip=10p

25

5x2p=10p

24

5x2p=10p

23

2x35p+3p=10p

24

S5x2p=10p

VARIANTA 2
1 C
2 b
3 b
4 b
5 d
6 d
7 d
8 C
9 d
10 a
11 a
12 b
13 d
14 b
15 d
16 C
17 a
18 a
19 b
20 C
21 8x125 p=10p
22 5x2p=10p
23 6x15p+1x1p=10p
24 5x2p=10p
25| 2x35p+1x3p=10p

25

6x15p+1x1p=10p

25

10x1p=10p




